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TR e 379 U9-U5 O ATH{eh 3Tad: ford |

Candidates must first write their Roll Nos. on the question paper compulsorily.
qHl 9T T A A € |

All the questions are compulsory.

YeIeh U9 1 ST &1 T8 SR-GReht | & ford |

Write the answer to each question in the given answer-book only.

59 ool ° I @Ue ¢, 37 9l & I U 91 & ford |

Answers of the questions with internal division should be written at one place.

U9 @ 1 ¥ 4 TF (Sgiashedid U9HT) % 3T dlfetehl sH1ehY STR-greden o ford |

Draw a table in your answer-book and give answers of Question Numbers 1 to 4
(M.C.Q’s) in it.

Tt geHl & 3T I GrE JHfhd € |

Weightage of the question is written infront of the question.

U903 o Tl 3 SIS TuiaR | fohdll TR bt Afey3iay/foriemar g o) fe=st 9o & oo ot
& WE A |

If there is any error/difference/contradiction in Hindi and English versions of the
question paper, the question of Hindi version should be treated valid.
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1. 7®¥E
(1) 49 () 243
(@) 343 @ 21
The cube of 7 is
(a) 49 (b) 243
(c) 343 d 21

2. ST a? + 2ab + b? F UHEES €

(3) (a+b)(a—-Db) () (a+b)?
(#) (a—-b)? (®) (a?+b?)?
The factors of expression a® + 2ab + b? are

(a) (a+b)(a-b) (b) (a+b)
(c) (a—b)? (d) (a?+b??

3. o9 9 AR % e e

(M) 8 @& 12
& 6 ® 14
Number of edges in a cube are
(a 8 (b) 12
(c) 6 (d 14
4. Tg 3,0 feme
(37) x-3T X () e e &
(@) y-IWW (®) ol =egerter A
The point (3, 0) lies
(a) on x-axis (b) in first quadrant
(c) ony-axis (d) in second quadrant

5. EETEERT: ()32x3 (i) K‘?l”
Evaluate 0)32x3 (i) K;j }
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6. Th TSTHIY fommerd | ie]ol TEere o 3T=id Ud T3 9l | 25% 9 & 9 o T | IS o
T ot WY 180 & A A % Ui b G feha & 2

In a Government school 25% Neem plants were sown during environment pakwara (fort
night). If there are 180 plants in total then how many Neem plants are there ? 2

7. IO FM BT :
Bx+5) (5x-3)
Find the product :
(Bx+5) (5x-3) 2

8. U Mg ol &l TIAT o [T 3TTeredeh shis ) fefaa fafew |

Write any two necessary conditions for constructing a unique square. 2

9. U PSR Uy O foRRT qe wetehl s G fatan |

Write number of edges and faces in a triangular prism. 2

10. Ueh 9T Sl Thehd UT GH G&AT 37 Sl UTFhT I BT |

Find the probability of getting an even number when a dice is thrown. 2

1. s Famd g am“‘wnaﬁaasa'

14
Subtract the sum of —and — from the sum of —,; and 2 4
14 7 14 4% 14
12. T Sesti & 3 9 9 | fovrsaar & Sire iy ;
(1) 1839 (ii) 236637
Test the divisibility of following numbers by 3 and 9
(1) 1839 (i1) 236637 4
13. FEfadnam fafa & Tom ST : 426 x 351
Multiply by Urdhwtirygbhyaam method : 426 x 351 4
AYAT
OR

TREe™ I 1 ITFTT T 0T T : 22 x 23
Multiply by using Nikhilam formula : 22 x 23
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14. TEHHHT a2 — b? = (a + b) (a — b) T ST Hd §Y UFEE T HISTT
(i) (2a+7) (2a—"7)
(i) (p* + g (p* - ¢?)
Using identity a> — b> = (a + b) (a — b) find the product —
(i) (2a +7) (2a—"7)
(i) (p* + q») (p* - 4% 4

15. 5@ T garR=EqSt ABCD H x @ y &l 9 $1d ST |
Sy—-6

D > C
16@?// //i+l
A > B

24 3
Find the values of x and y from given parallelogram ABCD. 4
Sy—-6

D > C
16cm/ /x+1
A > B
24 cm

16. &2 ™ fo & ABCD U qqer=r=qyst ¢ @8 AB Il DC @21 DA L AB € 1 3§ AB = 13 cm,
AD =8 cm @1 CD =7 cm €, A THTEATYST 1 &1F%eT 3T HIFT |

7

D C
8
H
A 13 .
In given figure ABCD is a trapezium in which AB Il DC and DA L AB. If AB = 13 cm,
AD =8 cm and CD =7 cm, then find area of trapezium. 4
D ’ S
8
H
A 13 E
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17. (i) WEFEE gRI UAEE HINT : p2qr + pg2r + pqr?

Factorize by common factor method : pqr + pg°r + pqr?
(i) &I 18m? + 6m2 + 12m o 3m ¥ 9T ST |

Divide the polynomial 18m? + 6m? + 12m by 3m. 4

18, O T A S R 5 s ¥ | A o e & 2 S e o A 5 A

T | IRET HE=T T HI |
Denominator of a rational number exceeds its numerator by 5. If 2 is added to its numerator

: 1. .
and denominator then we get 5 Find the rational number. 4

19. 39 foehed g e T @l gid it |

(i) U IqS SO o e F R IS WAM AT H AL, 3 TR E
(T ST/aT)
(i) o Sgst S oft foshol SR Held €, <gyST ol € |
(3TTe1/3Tad)
(i) eI H N aEHOTHI AT FATE | (180°/360°)
(iv) % ok WER e e § | (TS AHET)
Fill in the blanks choosing the right option. 4

(1) A quadrilateral which has two pairs of equal adjacent sides is called

(parallelogram/kite)

(i1) Those polygons whose all diagonals are in the interior, are called
(convex/concave)
(ii1) Sum of all exterior angles of a polygon is . (180°/360°)
(iv) Diagonals are perpendicular in . (parallelogram/rhombus)
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20. A/ U T UEEE W dRT Ociehl o [Gfe TAtdr sl S9N TR € | UR-de % Gerdl 9

o oo > [a¥al

[AHletlgd ARl F I S=1Q

Framard FHaHr @t
AR BT

IR THT S R

(i) I FEE H TR B I R AfaeTd geed g8 2
(i) G Tk © Fed Tl o e IfaeTd §ee g8 2
(i) Y SATET FHAT aTe =Teish i hd TTerd! 9 il & 2

(iv) ~IaH SEeATE aled dTeTh i [ Tetdl 9 gt € 2

Various mistakes of automobile drivers are shown in the following pie-chart. With the help
of pie-chart answer the following questions :

Breaking traffic

1 .
fuies Driving Dangerously

Driving
fast

Drink & Drive Other Reasons

(1)  Percentage of accidents due to disobedience of traffic rules ?
(i) Percentage of accidents due to driving dangerously ?
(i1i1)) Due to which mistake of automobile driver maximum accidents take place ?

(iv) Due to which mistake of automobile driver minimum accidents take place ?
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21. TEA | Uh ALFHA 5 & T 84,000 T F0T 10% MGH T F %aﬁ%fﬂtr%m | TaeT ZRT 1%6113‘
YT A fohd ST a6t et Tshdieg SATST i UM ST, JfE 1T STEas 37 § |

Naval borrowed ¥ 84,000 from a nationalized bank for 1% years at the rate of 10% per

: 1 . : :
annum. Compute the total compound interest payable by Naval after 15 year, if the interest is

compound half yearly.

AT

OR

TG = Teh WheX 25% i &1 ¥ T 18,750 | a1 | WheX T 79 Tl 1 i |

Rahul sold a scooter for ¥ 18,750 at a loss of 25%. Find the cost price of the scooter.

22. U di Hf B 7 cm d FAE 10 cm € | I 1 Ok TR &%el AT STEAE I i |

(n:%wwﬁvaﬁ)

The radius of a cylinder is 7 cm and its height is 10 cm. Find the curved surface area and

22
volume of the cylinder. (use & = 7)

area
OR

o T Ea I &R I BT | GH AT WX H € |

D

10

ES 40

60

r—% ¢

30

A 15 B
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Find the area of the field shown below :

All measurements are in metres.

D

23. WH T ABCD ! T&HT HitT f51eeht faehti BD = 5.6 cm @ |

Construct a square ABCD, given that diagonal BD = 5.6 cm.

24. T TRt % STER WA 3R W[R0S % Hed ol Wi

Etep a9 | 299 | 399 | 499

oA (W) | 50 | 100 | 150 | 200

According to the following table, draw the graph between time and simple interest.

Time 1 year | 2 year | 3 year | 4 year

Simple Interest (in ) 50 100 150 200
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